PRESENT PERFECT




Mbl ncnonb3yem Present Perfect, korga XoTuM nokasaTb
pe3ynsraTt AeNCTBUA, KOTOpOoe yXKe coBeplumnock. C
NOMOLLIbIO Present Perfect Mbl akLLEHTUPYEM BHUMAHNE MMEHHO
Ha pe3ynbraTe U N0 HEMY BUAUM, YTO OEUCTBUE YXKe
BbIMOJTHEHO.

Apenanato —| did it. (Past Simple— pgencrtBue OblS1O B
NpoLUSIOM)
Acpenanato -1 have done it. (OencTtBue 3aKOH4YUIOCH,

3HAYUT, ECTb pe3ynbrarT)



Ecnun roBopsllemMy BaxkeH caM dhakT npounsoLleallero
ONEVNCTBUA, a HE ero BpeMsi Unm oobCToATENbCTBA:

| have visited the Louvre 3 times.
A nocetun JlyBp Tpu pasa.

Ecnu Bpems cobObITUA UMEET 3HAYEHNE, TO HYXKHO
MCnonb3oBaTb Bpem4a Past Simple:

| visited the Louvre last year.
A nocetun JlyBp B npoLunom rogy.




Ecnn nepuon, B KOTOPbIA NPOU3OLLIO OEUCTBUE, eLle He
3aKOHYUIICA:

| have finished reading “Dracula” this week.
Ha aTon Hegene g 3akoH4YUnN Yntathb «pakyny».

B npotBHOM criydae ncnonb3yeTtcsd Bpems Past Simple:

| finished reading “Dracula” 2 weeks ago.
A 3akoH4YUnN ynuTaTthb «[pakyny» gse Hegenu Hasag.




Oons o6bo3HayeHns1 [OEeWCTBUW, KOTOPblE HavalucCb B
NPOLUSIOM U NPOAOIIKAKTCA B MOMEHT pa3roBopa:

I"ve studied Spanish since childhood.
A y4ynn ncnaHckun ¢ geTcrtsa.

| haven’t seen my hometown for 45 years.
A He Bnaen ceBou poaHou ropof 45 ner.




K OencTBuio ¢ pesynsratom

OTHOCUTCA:

[lenctBue c Hapeymnamu already (yxe), just (TONbKO 4TO), yet (yKe, eLue).
OHM yKasblBalOT Ha TO, 4YTO [OENCTBME TMPOU3OLLUNIO HEOABHO U B
pes3ynesraTe YTO-TO U3MEHUIOCH

| know Jane. We have already met. — A 3HakoM c [XeWH, Mbl ke
BCTpeyanuck. (Mbl  BCTpeYariuCb B MPOLWUSIOM, MNO3TOMY, KakK
pe3ynbsTaT, cenyac 9 ee 3Hato)




Hapeuwne yet ucnonb3yetcsa B Bornpocax U oTpuuaHuax. B
oTpuLaTeNbHOM MPearioXXeHun yet NepeBOAUTCSA KakK «ELLE», B
BOMpoce — «yxe». Yet 00bIMHO CTOUT B KOHLIE NPeanoXeHus.

— s Jim here? — [1)Xxum 3necb?
— No, he hasn’t arrived yet. — HeT, OH ellle He npunexarn.




Affirmative +

| have started

You have started
We have started
They have started

He has started
She has started
It has started

S+ have / has + V3

| have = I've

You have = you’'ve
We have = we've
They have = they’ve

He has = he’s
She has = she’s
It has = it’s




Negative —

| haven’t started

You haven’t started
We haven’t started
They haven’t started

He hasn’t started
She hasn’t started
It hasn’t started

S + haven’t / hasn’t + V3

have not = haven’t

has not = hasn’t




Interrogative>

Have [Has + S +V3?

Have | started?
Have you started?
Have we started?
Have they started?

as he started?
as she started?
as it started?




Short answers

Yes, | have No, | haven't

Yes, he has No, he hasn't




